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& 5 B - IASHE By = & 8 i)
EEAEE 4,588,812
BEAAE 1,764, 957
EpEa 6,337,769 X 48.6% - 3,924 3,076, 231
—EHERGE 4,588,812 + 1,764,957 + 3,076, 231 9, 430, 000
BRI 293,720 + 1,850 295, 570
BEAE 293,720
EERE 1,850
Z DAt 293,720 % 53.85% ( 35% + (1-35%)) 158, 168
SREGIRAM 295,570 + 158,168 453,738
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2 xER—-UDI(/r3a7)  |o6émm, B - BHELT " 2.00 15, 300 30, 600
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4 BRR—UII(A—IIAT7) d6bmm. EE " 25.00 33,200 830, 000
[RATIEEABR " 844, 260
5 IREEAER ML - VIV b 5.00 7,160 35,800
6 REBAHR w-wELT 5 2.00 9,430 18,860
T REEAHR BRELCY T/ = 30. 00 13,600 408, 000
8 REEAHR #]a = 24.00 15,900 381, 600
PRI IRERR = 193, 752
9 BHOIMYFEH 1.00 96, 876 96, 876
10 BrmEBFOER f: 1.00 96. 876 96,876
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=
R 261,000
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=
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=
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